Dy Q VAN —
Vivarg
R JL=] lljtn ] [I}X
P X i *f R
B B
TH % O FE KA — W ELE R T X [E] | B8R 440023 18 H O s A S b 5 B e
KA OFEE GRE)FH H 19741112 Brm#53647% | F5 € GRIE) D% Y4 RIE HEEFLFFBLIHEL &
e | BT T B A (&R EETH
P m H PR
oo |
BAOIEE (m) 33, 806 it B 5 o X [ & "4 H H
g ST g | R E R 33, 806 | Bl/HZ
X DEE (m) TR 0
HHIN WA WKEDIEE 0
& H i (m) - % 1 /i3 fin %
R 28,573 %k | R (m) | FHHE %% LR (m) M 5 iis iR
D | FE 0 0| 7k AN 53 5,233 fH %% | ZEE (m) | M o | ETIEEE M)
4iF | 4iF X 0 0 0 0 0 0
K IREE 0 0
DD it 53 5,233
NN BE ONE B 9.0 XA — hVELE 5.5 A — MV ULE 4.0 A — FVLLE 4.0 A — b IV
& I O FE SR \ (m) 9.0 X — R LA (m) | 5.5 A — F LA (m) (m)
T s s kel 7, 479 26, 327 0 0
G 7,479 26, 327 0 0
HEJHEAZEAREXEOLERE  (m) 0 7D T [EE
W [E A M| M4 g E 2 Gt g e | LHSOE | BE (0
s (nd i H H () () () s DR E BBk |4
D
ﬁ*f [/ AR
s 1,571, 637 0 0 1,571, 637 I 22 0
B/ NEETE B & AT B /N AR R (m) & AT e 2 HEWT A i (%) & AT
7.0 14. 0 0 750. 0 33. 1 50 4.7 28. 0 40
X ] T £ (m) wOH F ROl & IH B U T
b
B HEE DR R NN S % 1 TR R A
D gz (m)
| 9. 0f—hV 5.5 =MLl E 4. 0p=MvEL I 4, 0p=MV
VL k= 9. 0= My ATii 5. 5 A= My A i Rt
i B 7 E 1 Fit G w O F RO 5 IH BB aa O H
B mig (m) | BEEA
%




H S & 2 & 4 2 FEE o TARY) O E

T S — R4 O

17 R8¢ DA 2

#iflE F O T35 7 5 W O B3R

1
—

/

T OFFRL T & HE

I

g (dei]) £ HH

I

GFHEE R B . SfeF4H 1H




Vv

o

Z<

N

Gl

AN
[

i

(EASAE

e 46 D

XF‘Eﬁ&@EEE

S
H

—_—

EERE R

[T

==+
>
I |

%

L
1|
—rl

i
\-r-

¥ I S
[

L
—rl

I

1
—rl —rl

1
I |

§Fg T I

_[| ||

o IR Ph

\-r-

— |

BT

_[l \-r-

ar

jm/“f\

71 BT

- |

T
7{szmTj<ﬂthﬂil
HET=F&EN 6 0 2 3%
jn@m%fﬁ3519%2~ﬁﬁ%mm%%m457%1
7j(E

TG H

T 7 Bl
ﬁt%?é"
HEFET TV I 2 0 1% 2 ~85
TR ZHT =TT 4 5 8 2 ~¢k
RE/NRE R84 2 3 33F 1
= FE T8 A
7%%@(TEQ%XD 5 9% 1 ~EH KFEHH
i T =~fEME T 6 5 0 &% T
NPT ERE 4 5 7 % 1 ~ 1 KRR IS

2T H

El?‘

WWU

37‘

[FLJ

\-r-

F?ﬁ

Ul It

Ak EIEH] ~ = E 5.
7ﬂﬁWﬁ®*4TE~
TIHRE S5 3 1 6% 2 ~$5ETHER

%%3?;%2 57 7T&HE~ETEAR

H ]
L= Y

20231119
20190217

SETHEET AL 2 0 1% 2
T 0T =177 AR 4 5 83F 2
BT 20190217
=/NRETE R -84 2 3 3% 1 20150208
BAERTFEREAEII9 40 0% 28 20140320

T TR
=T R E AR 1 98 9% 1 20120318
6 9F 2 20120205

1~ Bl Tl B 8 = E T e A

6 9 2 ~MPri/NERTFE\HEIFS 2 1 2 20070415

FEEE2 57 7% 20060513

A E TR S5 31 6% 2 20051220
XHa59%1 20031130

FHIAR1 98 91 ~EHEMm KEEHITEHO9 7 8% 1

1~ TR 3 51 9% 2 19970401

19941013

HEFiGHEN 6 0 23F 1

. ’\“fn

20001018

WWU

19941013

[FU

HIO9 7 8&F 1 ~EmMmKEE

FEHITEMEO 6 5 0% 1 19931013

D

dlw

1

A% l

A9 40 0%FK2 8~k

i=




e = =2 = 1713
5 — SIS I 2025/1//22
AL 0 0023 il
i = jals K
X ] (BB EOA, TE DR m m )TN & ] D Fe KA i =
BHOHE | A E | OB B | E B | hooxb i3 T AR i RR =
m
— e 6. 50 0. 00 0. 00 1. 40| 2,364.0 0.0 516. 2, 880. 2,880.0‘ﬁtﬂ<%§%@§5
7.4 60 10. 24 3. 50 0. 00 2.15
— IR 6. 50 0. 00 0. 00 1. 40 58. 0 0.0 0. 58. 2,938.0 TAZ T b R
10. 7 24 10. 0 3. 50 0. 00 2.15
— e 6. 50 0. 00 0. 00 1. 40 207. 0 0.0 0. 207. 3,145.0‘7“2‘7i7’L/F§%%§
10. 8 0 11. 0 3. 50 0. 00 2.15
—HIREE T 3. 50 0. 00 0. 00 0. 60 267. 0 0.0 0. 267. 3,412.0 TAZ T v R
11.0 0 11. 60 3. 50 0. 00 0. 50
— e 3. 50 0. 00 0. 00 2. 30 141. 0 0.0 0. 141. 3,553.0‘7“2‘7i7’L/F§%%§
11.2 60 11. 0 3. 50 0. 00 1. 70
—HREEE T 3. 50 0. 00 0. 00 2. 00 197. 0 0.0 0. 197. 3, 750. 0 TAZ T v R
11.4 0 11. 0 3. 50 0. 00 1. 65
— e 3. 50 0. 00 0. 00 2. 00 185.0 0.0 0. 185. 3,935.0‘7“2‘7i7’L/F§%%§
11. 6 0 11. 8 3. 50 0. 00 1. 40
— IR ER T 3. 50 0. 00 0. 00 1. 50 26. 0 0.0 11. 37. 3,972.0 TAZ T v R
11.8 8 11. 45 3. 50 0. 00 1. 50
— RS 3. 50 0. 00 0. 00 1. 55 45.0 0.0 0. 45. 4, 017.0 T AT T IV R
11.8 45 11. 90 3. 50 0. 00 1. 50
— IR 3. 50 0. 00 0. 00 1.55 144. 0 0.0 0. 144. 4, 161.0 TAT T v R
11.8 90 12. 10 3. 50 0. 00 1. 50
— HRSSHE T 3. 50 0. 00 0. 00 2.25 191. 0 0.0 0. 191. 4, 352. 0 T AT T IV R
12. 0 10 12. 0 3. 50 0. 00 2. 50
— R 7.00 0. 00 1. 50 2.90 241.0 0.0 0. 241. 4, 593. 0 TAZ T v R
12. 2 0 12. 40 6. 75 0. 00 2. 30
— HHIRSSHE T 3. 50 0. 00 1. 50 2.55 55.0 0.0 0. 55. 4, 648. 0 T AT T IV R
12. 4 40 12. 95 3. 50 0. 00 1. 90




e = =2 = 2/ 13
5 — SIS I 2025/1//22
AL 0 0023 il
i = ik K
X ] (BB EOA, TE DR m m )TN & ] D Fe KA i =
BHOHE | A E | OB B | E B | hooxb i3 T AR i RR i
m
— IR en T 3. 50 0. 00 1. 50 1. 75 65. 0 0.0 0. 65. 4, 713.0 TAZ T IV
12. 4 95 12. 60 3. 50 0. 00 1.75
— e 3. 50 0. 00 1. 50 2. 40 45. 0 0.0 0. 45. 4, 758. 0 TAT T b R
12.5 60 12. 5 3. 50 0. 00 2. 70
— e 3. 50 0. 00 1. 50 2. 40 195. 0 0.0 0. 195. 4,953.0773Zt7j7’L/F§%%§
12. 6 5 12. 0 3. 50 0. 00 2. 70 |
— RS 3. 50 0. 00 1. 50 2. 50 199. 0 0.0 0. 199. 5’152-0,£;f%§;ik£§£;§%
12. 8 0 13. 0 3. 50 0. 00 2. 00
— IR en T 3. 50 3. 50 0. 00 1. 70 200. 0 0.0 0. 200. 5,352.0773Zt7i7’L/F§%%§
13.0 0 13. 0 3. 50 0. 00 6. 20
— e 3. 50 3. 20 0. 00 0. 90 60. 0 0.0 11. 71. 5,423. 0 TAZ T v R
13. 2 0 13. 71 3. 50 0. 00 1. 10
— e 3. 50 2. 50 0. 00 0. 63 0.0 0.0 126. 126. 5, 549. 0 T AT T IV R
13. 2 71 13. 97 3. 50 0. 00 0.63
— IR ER T 3. 50 3. 00 0. 00 1. 60 40. 0 0.0 4. 44. 5,593. 0 TAT T I R
13.3 97 13. 40 3. 50 0. 00 0. 84
— IR en T 3. 50 3. 00 0. 00 1. 16 160. 0 0.0 0. 160. 5, 753. 0 T AT T IV R
13. 4 40 13. 0 3. 50 0. 00 0. 84
— RS 3. 50 3. 00 0. 00 1. 00 100. 0 0.0 0. 100. 5, 853. 0 TAZ T v R
13. 6 0 13. 0 3. 50 0. 00 1. 00
— RS HE T 3. 50 3. 00 0. 00 1. 00 100. 0 0.0 0. 100. 5,953. 0 T AT T IV R
13. 7 0 13. 0 3. 50 0. 00 1. 00
— R EET 3. 50 3. 10 0. 00 1. 05 200. 0 0.0 0. 200. 6, 153. 0 TAZ T v R
13. 8 0 14. 0 5.15 0. 00 1. 20
— RS HE T 3. 50 4.15 0. 00 1. 45 99. 0 0.0 102. 201. 6, 354. 0 T AT T IV R
14. 0 0 14. 0 3. 45 0. 00 1. 40




—_ — = ==
ot — ¢ &k W F 202531//2
R4 0 0023 o]
i =] pil= R
X [H (B B0, TE T D) m m N E 5 1] 0D FEJH iE &
HOE | A& E | o B | E B | M3 i3 I P i }
m

—ERenET 3. 50 4.10 0. 00 1. 40 201. 0 0.0 0. 201. 6,555.07731t7i7’L/F§%%§
14. 2 0 14. 0 3. 50 0. 00 2. 40

—E RS 3. 65 3. 80 0. 00 1. 30 201. 0 0.0 0. 201. 6,756.o‘ﬁkﬂ<ﬁ£§%%§
14. 4 0 14. 0 3. 50 0. 00 1. 45

—ERenET 3. 50 3. 75 0. 00 1. 60 128. 0 0.0 71. 199. 6,955.o‘ﬁkﬂ<ﬁ£§%%§
14. 6 0 14. 0 3. 50 0. 00 1. 45

—E RS 3. 50 3. 65 0. 00 1. 50 0.0 0.0 230. 230. 7,185.0‘ﬁkﬂ<ﬁ£@%§§
14. 8 0 15. 30 3. 55 0. 00 1. 45

—ERenET 3. 50 0. 00 0. 00 1. 10 198. 0 0. 0 16. 214, 7,399.0‘ﬁkﬂ(ﬁ£§%%§
15. 0 30 15. 45 3. 55 0. 00 1. 05

—E RS 3. 45 0. 00 0. 00 1. 40 159. 0 0.0 0. 159. 7,558.0‘ﬁkﬂ<ﬁ£§%%§
15. 2 45 15. 0 3. 80 0. 00 1. 75

—ERenET 3. 50 0. 00 0. 00 1. 40 198. 0 0. 0 0. 198. 7,756.0‘ﬁkﬂ(ﬁ£§%%§
15. 4 0 15. 0 3. 50 0. 00 1. 50

—E RS 3. 50 0. 00 0. 00 1. 40 199. 0 0.0 0. 199. 7,955.0‘ﬁkﬂ<ﬂ£§%%§
15. 6 0 15. 0 3. 50 0. 00 1. 50

—ERenET 3. 50 0. 00 0. 00 1. 35 200. 0 0. 0 0. 200. 8,155.0‘ﬁkﬂ<%£%%§§
15. 8 0 16. 0 3. 50 0. 00 1.55

—E RS 3. 50 0. 00 0. 00 1. 35 202. 0 0.0 0. 202. 8,357.0‘ﬁkﬂ<ﬁk@%§g
16. 0 0 16. 0 3. 50 0. 00 1. 35

—EIREEE T 3. 50 0. 00 5. 60 1. 55 197. 0 0.0 0. 197. 8,554.0‘ﬁkﬂ<ﬁ£§%%§
16. 2 0 16. 0 3. 50 0. 00 1. 70

—E RS 3. 70 4. 60 6. 65 1. 40 202. 0 0.0 0. 202. 8,756.0‘ﬁkﬂ<ﬁk%%§g
16. 4 0 16. 0 3. 50 0. 00 1. 25

—EIREEE T 3. 50 0. 00 6. 70 1. 30 35. 0 0.0 0. 35. 8,791.0‘Ekﬂ<ﬁ£§$3§
16. 6 0 16. 35 3. 50 3. 10 1. 25




== — = —+t
ot — ¢ &k W F 2025?1{/;3
AR 0 0023 HriE
I = ii= R
X (BB BV, TR T 0D m m SENNIE £ B T 0D T s =
HogE | A& E | B Bl E B | b B | AR i
— E R AT 3. 55 3. 80 0. 00 1. 45 156.0 0.0 0. 156. 8, 947, o| P AR
16.6 35 16. 0 3. 55 0. 00 1. 45
= E AT 3. 50 0. 00 6. 55 .30  218.0 0.0 0. 218. 0, 165, 0| P ACTERTISE
16. 8 0 17. 15 3. 50 0. 00 1. 25
= E AT 3. 50 0. 00 7.10 1. 30 183.0 0.0 0. 183. 0, 348, o|F/ATERE
17.0 15 17. 0 3. 50 0. 00 1. 40
= E AT 3. 50 0. 00 7.25 1.30|  264.0 0.0 0. 264. 0, 612, 0| P ATERRSE
17. 2 0 17. 70 3. 50 0. 00 1. 20
= E R AT 3. 60 0. 00 7.10 1. 35 136.0 0.0 0. 136. 0, 748, o|F/AVERE
17.4 70 17. 0 3. 65 0. 00 1. 30
= E AT 3. 55 0. 00 2. 20 1. 55 188. 0 0.0 94, 282. 10, 030, 0| PFACTERRZE
17.6 0 17. 85 3. 50 0. 00 1. 55
= E R AT 3. 50 5. 60 0. 00 0.70 113.0 0.0 0. 113. 10, 143, 0| PFACTERRSE
17.8 85 18. 0 3. 50 0. 00 1.55
= E AT 3. 55 3. 60 0. 00 1.20[  200.0 0.0 0. 200. 10, 343, 0| PFACTERZE
18. 0 0 18. 0 3. 50 0. 00 1. 65
= R AT 3.70 3.90 0. 00 0.00]  200.0 0.0 0. 200. 10, 543, 0|7 77 7 /¥ M
18. 2 0 18. 0 3.35 0. 00 1. 60
= E AT 3. 50 0. 00 0. 00 1.25[  200.0 0.0 0. 200. 10, 743, 0|7 77 7 /¥ D
18. 4 0 18. 0 3. 50 0. 00 1. 25
= E R AT 7.00 1. 20 0. 00 0. 00 198. 0 0.0 0. 198. 10,941, 0|7 7 7 /¥ M
18. 6 0 18. 0 3. 50 5. 10 1. 20
= E AT 3. 50 0. 00 0. 00 1. 35 126. 0 0.0 80. 206. 11, 147, 0|7 77 7 /¥ D
18. 8 0 19. 0 3. 50 1. 70 1.35
= R AT 3. 50 0. 00 0. 00 1. 25 99. 0 0.0 0. 99. 11,246, 0|7 7 7V MR
19.0 0 19. 0 3. 50 0. 00 1. 25




=2 — =M= —+
ot — ¢ &k W F 2025?1//2
A4 0 0023 ZJBC]
i B it [
X [H] (EE: EOAML, TE: T O m m W INSE W 1 D FEXA i =
#og | & | o AR
m

Sk {8E i 3. 50 3. 50 0. 00 1.25|  204.0 0. 0 0. 204.0 11,450, 0|7 7 77V MEIES
19.1 0 19. 0 3. 50 0. 00 1. 60

ok {SE i 3. 50 0. 00 0. 00 1.25|  103.0 0. 0 0. 103.0] 11,553, 0] %7 7 /¥ M
19.3 0 19. 0 3. 50 0. 00 1. 25

Sk {8E i 3. 50 0. 00 0. 00 1. 25 47. 0 0.0 147 194.0| 11,747, 0|7 77 7V NS
19.4 0 19. 0 3. 50 0. 00 0. 00

ok {SE i 3. 50 0. 00 0. 00 1.00|  101.0 0. 0 0. lo1.0| 11,848,077 7 /¥ M
19.6 0 19. 0 3. 50 0. 00 1. 25

Sk {8E i 3. 50 0. 00 0. 00 1.25|  200.0 0. 0 0. 200.0| 12, 048. 0| 7 7 /¥ MR
19.7 0 19. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 3. 50 0. 00 1. 25 30. 0 0.0 0. 80.0| 12, 128,07 %7 7V MR
19.9 0 19. 30 3. 50 0. 00 1. 25

Sk (L 8E i 3. 50 3. 50 0. 00 0.00]  219.0 0. 0 0. 219.0| 12,347,077 7Y MR
19.9 80 20. 0 3. 50 0. 00 1. 60

ok {SE i 3. 50 3. 70 0. 00 .25 120.0 0. 0 0. 120.0| 12,467,077 7V M
20.2 0 20. 20 3. 50 0. 00 1. 25

Sk {8E i 3. 50 3. 50 0. 00 1.25|  181.0 0. 0 0. 181.0| 12,648, 0|7 7 7V NS
20.3 20 20. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 3. 50 0. 00 1.25|  101.0 0. 0 0. 01,0 12,749, 0|7 %7 7V M
20.5 0 20. 0 3. 50 0. 00 1. 25

Sk {8E i 3. 50 3. 50 0. 00 1.25|  196.0 0. 0 0. 196.0| 12, 045 0| 7 7V P
20.6 0 20. 0 3. 50 0. 00 1. 25

o {SE 3. 50 3. 70 0. 00 1.25|  100.0 0. 0 0. 100.0| 13,045, 0|7 %7 7 /¥ M
20.8 0 20. 0 3. 50 0. 00 1. 25

Sk {8E i 3. 50 3. 80 0. 00 0.00]  221.0 0. 0 0. 221.0| 13,266,077 77V MRS
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Sk {8E i 9. 50 3. 00 0. 00 1. 25 81. 0 0.0 0. 81.0| 13,347 0| 7 7Y P
21.1 20 21. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 3. 00 0. 00 1.25|  198.0 0. 0 0. 198.0| 13,545.0|7 * 7 7V M
21.2 0 21. 0 3. 50 0. 00 1. 25

Sk {SE i 3. 50 4. 50 0. 00 1. 25 99. 0 0.0 0. 09.0| 13,644, 0|7 7 7V MRS
21.4 0 21. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 4. 50 0. 00 1.25|  198.0 0. 0 0. 198.0| 13,842, 0|7 %7 7V M
21.5 0 21. 0 3. 50 0. 00 1. 75

Sk {SE i 3. 50 5. 00 0. 00 1.25|  110.0 0. 0 0. 110.0| 13,952, 0|7 7 7/ NS
21.7 0 21. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 5. 00 0. 00 1.25|  196.0 0. 0 0. 196.0 14, 148,07 %7 7 /¥ M
21.8 0 22. 0 3. 50 0. 00 1. 25

Sk {8E i 6. 50 4. 50 0. 00 1. 25 96. 0 0.0 0. 06.0| 14,244, 0|7 7 7V NS
22.0 0 22. 0 3. 50 0. 00 1. 25

ok {SE i 3. 50 4. 50 0. 00 1. 25 5. 0 0.0  114. 119.0|  14,363.0[7 %7 7 /¥ M
22.1 0 22. 20 3. 50 0. 00 1. 25

Sk {8E i 3. 50 4. 50 0. 00 1. 00 0.0 0.0 179 179.0 14,542, 0|7 7 7 NS
22.2 20 22. 0 3. 50 0. 00 1. 00

ok {SE i 3. 50 4. 50 0. 00 1.00[  190.0 0. 0 10. 200.0| 14,742, 0|7 7 7V P
22.4 0 22. 0 3. 50 0. 00 1. 00

Sk {8E i 3. 50 4.70 0. 00 1.25|  187.0 0. 0 0. 187.0| 14,920, 0| 7 7V P
22.6 0 22. 30 3. 50 0. 00 1. 25

o {SE 3. 50 0. 00 0. 00 .25 114.0 0. 0 0. 114.0| 15, 043, o PP/RTERIES
22.7 80 22. 0 3. 50 0. 00 1. 25

Sk {8E i 3. 50 4. 50 0. 00 1.25|  160.0 0. 0 0. 160.0| 15, 203, o| PF/RTEAIEE
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Sk {8E i 3. 50 3. 00 0. 00 3. 60 60. 0 0.0 0. 60.0| 15, 263. o VT ATEAISS
23.0 60 23. 20 3. 50 0. 00 2. 85
ok {8E i 3. 50 3. 30 0. 00 3. 30 93. 0 0. 0 47. 140.0| 15, 403, o| PF/RTEAIES
23.1 20 23. 60 3. 50 3. 80 1. 80 |
Sk {SE i 3. 50 0. 00 0. 00 1.30]  110.0 0. 0 60. 170. 15,573.o’€f§fffﬁ?;;%é7;a
23.2 60 23. 30 3. 50 0. 00 1. 40
ok {SE i 3. 50 4. 80 0. 00 2.10|  168.0 0. 0 2. 1700 15, 743, o[ PP/RTERIES
23.4 30 23. 0 3. 50 4. 70 4. 20
Sk {SE i 3. 50 1. 35 0. 00 2.20]  196.0 0. 0 4. 200.0| 15, 943, o PFATERAISS
23.6 0 23. 0 3. 50 4. 40 2. 10
ok {SE i 3. 50 2. 60 0. 00 2.10]  224.0 0. 0 16. 240.0| 16, 183. o PP A TERHISS
23.8 0 24. 40 3. 50 0. 00 2. 60
X {8E i 3. 50 4. 20 0. 00 1.10]  160.0 0. 0 0. 160.0| 16,343, 0|7 7 7V NS
24.0 40 24. 0 3. 50 0. 00 1. 00
ok {SE i 3. 50 4. 40 0. 00 1.00|  200.0 0. 0 0. 200.0| 16,543 0|7 7 7V P
24.2 0 24. 0 3. 50 0. 00 1. 40
Sk {SE i 3. 50 4. 05 0. 00 1.00|  200.0 0. 0 0. 200.0| 16, 743. 0| 7 7 /¥ MR
24.4 0 24. 0 3. 50 0. 00 1. 40
ok {SE i 3. 50 3. 65 0. 00 1.00|  183.0 0. 0 17. 200.0| 16,943, 0|7 7 7V P
24.6 0 24. 0 3. 50 0. 00 1. 10
Sk {8E i 3. 50 4. 05 0. 00 1.00|  260.0 0. 0 0. 260.0| 17,203,077 7V MRS
24.8 0 25. 60 3. 50 0. 00 1. 10
o {SE 3. 50 4. 05 0. 00 1.05|  194.0 0. 0 0. 194.0| 17,397,077 7 /¥ M
25.0 60 25. 60 3. 50 0. 00 1. 30
Sk {8E i 3. 50 3. 85 0. 00 1.05|  206.0 0. 0 0. 206.0 17,603,077 7V MRS
25.2 60 25. 60 3. 50 3. 95 1. 45
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Sk {8E i 3. 50 4. 05 0. 00 1.05|  200.0 0. 0 0. 200.0| 17,803,077 77V M
25.4 60 25. 60 3. 50 4. 15 1. 30
ok {SE i 3. 50 4. 22 0. 00 1.33]  120.0 0. 0 0. 120.0]  17,923.0[7 %7 7 /¥ M
25.6___ 60 25. 30 3. 50 0. 00 0. 80
Sk {8E i 3. 50 4. 00 0. 00 1.35|  120.0 0. 0 0. 120.0] 18,043, 0|7 7 7 NS
25.7 80 25. 0 3. 50 0. 00 1. 10
ok {SE i 3. 50 7.34 0. 00 1.35|  120.0 0. 0 0. 120.0] 18, 163.0[7 %7 7 /¥ M
25.9 0 26. 20 3. 50 0. 00 0. 75
Sk {SE i 3. 50 3. 50 0. 00 2. 50 90. 0 0. 0 90. 180.0| 18,343, 0|7 7 7/ NS
26.0 20 26. 0 6. 50 0. 00 0. 50
ok {SE i 3. 50 2. 50 0. 00 0.80]  100.0 0. 0 60. 160.0| 18,503, 0| PF/RTEAIES
26.2 0 26. 60 3. 50 0. 00 0. 60
Sk {SE i 3. 50 2. 50 0. 00 1. 50 60. 0 0. 0 20. 80.0| 18, 583, o[ FATEARS
26.3 60 26. 40 3. 50 0. 00 2. 25
ok {8E i 3. 50 0. 00 0. 00 1.50]  120.0 0. 0 20. 140.0 18, 723, o PF/RTERIES
26.4 40 26. 30 3. 50 0. 00 1. 25
Sk {8E i 6. 50 0. 00 0. 00 1.00[  140.0 0. 0 20. 160.0| 18,883, of PH/RTEAIEE
26.5 80 26. 40 3. 50 0. 00 1. 00
ok {SE i 3. 50 0. 00 0. 00 1.00|  160.0 0. 0 0. 160.0| 19, 043, o PF/ATERIES
26.7 40 26. 0 3. 50 0. 00 1. 00
Sk {8E i 3. 50 0. 00 0. 00 1.00|  135.0 0.0]  165. 300.0| 19, 343, o PFACTERAISS
26.9 0 27. 0 3. 50 0. 00 1. 00
o {SE i 3. 75 0. 00 0. 00 1.20]  197.0 0.0  143. 340.0| 19, 683. o PFATERAISS
27.2 0 27. 40 3. 75 0. 00 1. 40
Sk {8E i 3. 50 0. 00 0. 00 1. 25 0. 0 0.0  180. 180.0 19, 863, o PH/ATEAEE
27.5 40 27. 20 3. 50 0. 00 1. 25
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Sk {8E i 3. 50 0. 00 0. 00 1.25|  198.0 0. 0 83. 281.0| 20, 144, 0| PR TERIES
27.7 20 28. 0 3. 50 0. 00 1. 25
ok {8E i 3. 50 3. 50 0. 00 1.85|  135.0 0. 0 97. 232.0| 20, 376 o PP A TERHISS
28.0 0 28. 40 3. 50 0. 00 1. 20
Sk {8E i 9. 50 4. 05 0. 00 1.55|  202.0 0. 0 0. 202.0| 20, 578 o PFATERHISS
28.2 40 28. 30 7.00 0. 00 2. 15
ok {SE i 7.00 3. 80 0. 00 2.35|  150.0 0. 0 23. 173.0] 20, 751, o PPRTERIES
28.4 30 28. 0 3. 50 0. 00 1. 55
Sk {SE i 3. 50 3. 10 1. 50 1. 90 85. 0 0.0 120 205.0| 20, 956. o PFATERRSE
28.6 0 28. 0 3. 50 3. 10 1. 35
ok {SE i 3. 50 3. 50 0. 00 1.00|  157.0 0. 0 41. 198.0| 21, 154, o PP/RTERIES
28.8 0 29. 0 3. 50 3. 55 1. 00
Sk {8E i 6. 50 3. 75 0. 00 1.20]  156.0 0. 0 6. 224.0| 21,378.0 7 7Y MR
20.0 0 29. 15 3. 50 0. 00 3. 10
ok {8E i 3. 50 5. 15 0. 00 1.00|  164.0 0. 0 20. 184.0| 21,562, 0|7 %7 7Y M
29.2 15 29. 0 3. 50 0. 00 1. 40
Sk {8E i 3. 50 6. 95 0. 00 1.00|  189.0 0. 0 0. 189.0| 21,751.0|7 7 7/ NS
20.4 0 29. 0 3. 50 0. 00 1. 80
ok {SE i 3. 50 3. 35 0. 00 3.35|  202.0 0. 0 0. 202.0| 21,953 0|7 7 7V P
20.6 0 29. 0 3. 50 0. 00 3. 45
Sk {8E i 3. 50 3. 85 0. 00 1.60|  147.0 0. 0 50. 197.0] 22, 150.0|7 7 7V NS
20.8 0 30. 0 3. 50 3. 20 1. 35
ok {SE i 3. 50 3. 30 0. 00 1.60|  196.0 0. 0 0. 196.0] 22,346,077 7Y M
30.0 0 30. 0 3. 50 3. 90 1. 60
Sk {8E i 3. 50 2. 40 0. 00 1.65|  227.0 0. 0 0. 227.0| 22,573.0|7 *7 7V MRS
30.2 0 30. 25 3. 50 3. 95 1. 00
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Sk {8E i 3. 50 0. 00 0. 00 1.30]  173.0 0. 0 0. 173.0| 22,7460 7 7Y P
30.4 25 30. 0 3. 50 3. 25 0. 85

ok {SE i 3. 50 0. 00 0. 00 1.30] 198 0. 0 0. 198.0| 22,944, 0|7 %7 7/¥ MR
30.6 0 30. 0 3. 50 4. 00 1. 25

Sk {SE i 3. 50 0. 00 0. 00 2.00| 153 0. 0 19. 202.0| 23, 146.0| " 7 7 /¥ MR
30.8 0 31. 0 3. 50 4. 30 1. 25

ok {SE i 3. 50 0. 00 0. 00 1.25|  200. 0. 0 0. 200.0| 23,346 0|7 7 7V P
3.0 0 31. 0 3. 50 3. 80 1. 25

Sk {SE i 3. 50 0. 00 0. 00 1.25| 104 0. 0 96. 200.0| 23, 546.0| 7 7/¥ MR
3.2 0 31. 0 3. 50 3. 90 1. 25

ok {SE i 3. 50 0. 00 0. 00 1.25|  200. 0. 0 0. 200.0| 23,746 0|7 7 7V P
3.4 0 31. 0 3. 85 3. 80 1. 25

X {8E i 7.00 0. 00 1. 20 1. 40| 200. 0. 0 0. 200.0| 23, 946.0| 7 7 /¥ MR
3.6 0 31. 0 7.00 3. 90 1. 75

ok {SE i 7.00 0. 00 1. 20 1.55| 215 0. 0 0. 215.0| 24,161, 0|7 7 7V P
3.8 0 32. 15| 10.00 3. 85 1. 50

Sk {SE i 7.00 0. 00 1. 30 1.50] 184 0. 0 0. 184.0| 24,345, 0|7 7 7V NS
32.0 15 32. 0 7.00 3. 80 1. 45

ok {SE i 7.00 0. 00 1. 30 2.95| 201 0. 0 0. 201.0| 24,546, 0|7 7 7V P
32.2 0 32. 0 7.00 4. 00 2. 90

Sk {8E i 7.00 0. 00 1. 25 0.95| 203 0. 0 0. 203.0| 24,749, 0|7 27 7V MRS
32.4 0 32. 0 7.00 4. 00 3. 25

ok {SE i 10. 00 3. 80 0. 50 1.60| 197 0. 0 0. 197.0| 24,946, 0| 7 7V P
32.6 0 32. 0 6. 70 0. 00 1. 20

Sk {8E i 3. 50 3. 00 0. 00 1. 00 0. 0.0 203 203.0| 25, 149. 0| 7 7 /¥ MR
32.8 0 33. 0 3. 50 0. 00 1. 00
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Sk {8E i 3. 50 3. 00 0. 00 1.00|  134.0 0. 0 74. 208.0| 25,357,077 77V PSS
33.0 0 33. 0 3. 50 0. 00 1. 00
ok {8E i 3. 50 3. 50 0. 00 0.30]  200. 0. 0 0. 200.0| 25,557.0|7 7 7V P
33.2 0 33. 0 3. 50 0. 00 1. 40
Sk {8E i 7.00 2. 85 1. 25 1.85| 328 0. 0 0. 398.0| 25,885,077 /¥ MR
33.4 0 33. 20 7.00 3. 80 1. 45
ok {SE i 7.00 3. 90 1. 25 0.80|  223. 0. 0 0. 223.0| 26, 108. 0|7 7 7V P
33.7 20 33. 50| 10.00 4. 05 1. 15
Sk {SE i 7.00 3. 80 1. 25 1.20] 120 0. 0 0. 120.0| 26,208 0|7 7 7V NS
33.9 50 34. 70 7.00 3. 90 0. 60
ok {SE i 7.00 3. 80 1. 25 1.35| 118 0. 0 0. 118.0| 26,346,077 7 /¥ M
34.0 70 34. 0 7. 00 3. 50 1. 45
X {8E i 7.00 0. 00 1. 25 1.45|  213. 0. 0 0. 213.0| 26,5590 7 7Y MR
3.2 0 34. 0 7.00 3. 80 1. 45
ok {SE i 3. 50 3. 30 0. 50 1.90[  120. 0. 0 78. 198.0| 26, 757,07 %7 7 /¥ M
3.4 0 34. 0 7.00 3. 80 2. 40
Sk {SE i 3. 50 3. 80 1. 30 1.90|  199. 0. 0 0. 199.0| 26, 956, 0| PH/RTERIEE
3.6 0 34. 0 3. 50 3. 80 2. 35
ok {SE i 3. 50 0. 00 1. 30 2.00] 201 0. 0 0. 201.0| 27, 157. o PFATERHISS
3.8 0 35. 0 3. 50 0. 00 2. 00
Sk {8E i 3. 50 0. 00 1. 30 2.00]  200. 0. 0 0. 200.0| 27, 357. o PFATERAISS
35.0 0 35. 0 3. 50 0. 00 2. 00
o {SE 3. 50 0. 00 4. 20 1.30]  208. 0. 0 0. 206.0| 27, 563. o PF AR
35.2 0 35. 0 3. 50 3. 20 2. 00
Sk {SE i 3. 75 0. 00 0. 00 .40 170, 0. 0 22. 201.0| 27, 764. o PFATERAISS
35.4 0 35. 0 3. 75 0. 00 2. 25
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—E AT 3. 50 4. 25 0. 00 0. 50 203. 0 0.0 0. 203. 27,967.0‘5Fﬂ<%§%%§§
35. 6 0 35. 0 3. 50 4. 05 1. 10

— H AT 3. 50 0. 00 0. 00 0. 50 57. 0 0.0 160. 217. 28,184.0‘ﬁkﬂ<ﬁ£§%%§
35. 8 0 36. 20 3. 50 0. 00 1. 80

— E AT 3. 50 0. 00 0. 00 1. 00 666. 0 0.0 482. 1, 148. 29,332.0‘ﬁkﬂ(%£§%§§
36. 0 20 37. 65 3. 50 3. 20 1. 00

— BBkt 3. 50 0. 00 0. 00 1. 50 827. 0 0.0 790. 1, 617. 30,949.0‘ﬁkj<ﬁ§%%§§
37. 1 65 38. 80 3. 50 0. 00 1. 50

— R R 3. 50 0. 00 0. 00 1. 50 0. 0 0.0 6. 6. 30,955.0‘ﬁkﬂ(ﬁ£§%%§
38. 7 80 38. 0 3. 50 0. 00 1. 50

— AR T 3. 50 0. 00 0. 00 1. 00 190. 0 0.0 13. 203. 31,158.0‘ﬁkﬂ(ﬁ£%%§§
38. 8 0 39. 0 3. 50 0. 00 1. 00

Y /N ] 3. 50 0. 00 0. 00 1. 00 198. 0 0.0 0. 198. 31,356.0‘ﬁkﬂ(ﬁ£§%%§
39. 0 0 39. 0 3. 50 0. 00 1. 00

— AR T 3. 50 0. 00 0. 00 3. 50 200. 0 0.0 0. 200. 31,556.0‘ﬁkﬂ(ﬁ£%%§§
39. 2 0 39. 0 8. 00 0. 00 5. 00

Y /N ] 3. 50 0. 00 0. 00 1. 80 200. 0 0.0 0. 200. 31,756.0‘EF%<%E%%§§
39. 4 0 39. 0 3. 50 0. 00 0. 00

— AR T 3. 50 0. 00 0. 00 3. 00 200. 0 0.0 0. 200. 31,956.0‘ﬁkﬂ<%§%%§§
39. 6 0 39. 0 3. 50 0. 00 1. 80

Y /Nl 3. 50 0. 00 0. 00 0. 80 157.0 0.0 43. 200. 32,156.0‘ﬁkﬂ<%£%%§5
39. 8 0 40. 0 3. 50 0. 00 1. 00

— 1 AR T 3. 50 0. 00 0. 00 1. 00 200. 0 0.0 0. 200. 32,356.0‘ﬁkﬂ<ﬁ£%%§§
40. 0 0 40. 0 3. 50 0. 00 0. 85

Y /N ] 3. 50 0. 00 0. 00 0. 90 200. 0 0.0 0. 200. 32,556.0‘ﬁkﬂ<%§%%§§
40. 2 0 40. 0 3. 50 0. 00 1. 00
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— AR BT 3. 50 0. 00 0. 00 0. 80 200. 0 0.0 0. 200. 32, 756. 0 USES RS
40. 4 0 40. 0 3. 50 0. 00 0. 90
— 5 R BT 3. 50 4.10 0. 00 1. 00 169. 0 0.0 31. 200. 32, 956. 0 DA PR
40. 6 0 40. 0 3. 50 0. 00 0. 60
— AR T 3. 50 0. 00 0. 00 1. 30 200. 0 0.0 0. 200. 33, 156. 0 NEELES
40. 8 0 41. 0 3. 50 0. 00 0. 80
— R BT 3. 50 0. 00 0. 00 0. 50 154. 0 0. 0 46. 200. 33, 356. 0 URNEE RS
41.0 0 41. 0 3. 50 0. 00 1. 30
— AR 3. 50 0. 00 0. 00 1. 30 199. 0 0.0 0. 199. 33, 555. 0 NEELES
41. 2 0 41. 0 3. 50 0. 00 1. 00
— T R BT 8. 60 0. 00 0. 00 0. 00 96. 0 0.0 83. 179. 33, 734. 0 DA
41. 4 0 41. 0 3. 50 0. 00 1.25
— H IR PR 3. 50 0. 00 0. 00 1. 10 72.0 0.0 0. 72. 33, 806. 0 BEKPERIS
41.6 0 41. 22 3. 50 0. 00 1. 40
0.0

_13_




. ;FZ% 50 =S 1,5
GANES RNV 2025/1/22
W4+ 0023 PEIBLE]
g B
X H] ZaN i) ERG I it m [ [ A Fafi e OB | RERFIR | i B (T
S AR g | A | B
(B m i, B s sl m | (BB kY, FBETFY) m
Bl SRR Sy o = HEIRSET L T 415.0] 3.5 0.0| 1.3| 4,379.9|805 45 WRk344: | BIGfiEE  [1BITHIRE ML
—HE RSB T EEEAT 3.5] 0.0l 1.3 Fitr GES R
bEH AT T — E RSN EE T AL I AT 19.0] 0.0/ 0.0l 0.8 104. 5| P C#& VR334 | BiEfrE  [ETHIR EEL
— E RS T AL R IEAT 3.3] 0.0 1.5 7 LT THr
#AE (8. 4kp+25) — EE IR ENEE T AL IE AT 7.5 5.0 0.0l 3.1 213. 4| R CH5 Rk 324F | %k HWATHIR ML
— E LSS R T AL R IR AT 5.0/ 0.0l 11.9 R CHERE (BOXH/L/3— b)
RIS HRAG S EIRSSEE AL KT 44.91 3.5| 3.0 1.3 533. 2|l V344 | BiEfrE 1@ THIRRE  HEL
— RS RE T EAERT 3.5] 0.0 0.6 [ #1 GES AR
TR SR — HIRERREE T T 20.0( 3.5 0.0] 0.9 172.5| P C#& VR334 (BiEf e [BTHIRE L
— B SRR T 3.5 0.0 0.8 7 LT U THr
N INESER — R R TR IAHT 24.01 3.5 0.0l 0.9 207.0| P C#& WR%334E | BiEfiE [@ITHIR MEL
— B LR T AT 3.5 0.0 0.8 7' LT THT
#AE  (10. Tkp+0) — E R RIS ET 2.9 3.5 0.0] 23.5 123.0|R C#& VR334 |k WATHIR EL
— H PO T R AT 6.5 0.0/ 8.3 R Cilfff_(BO XM = 1)
FA a1 —HIRERRET 36.5 3.5 0.0 1.5 494. 1| P CH5 VRk224E (BIEfrE [BTHIR HEL
—E R 3.5 0.0 1.5 RAT  THE (B
A Tl SRV —HEIREREE T 126.01 3.5 2.5 0.6 1,354.5|P CH5 W4 [TL - 20 [ THIE ML
—E RS T 3.5 0.0 0.6 7' LT THi
T Bl = 2R —E e 102.2 3.5 3.5| 1.0l 1,277.5|P CH5 VR LTAE | BiGEfrE @A THIRE ML
— T 3.5 0.0] 1.0 7' LT THT
)| LA — VR BA R T el T 316.0 3.5 0.0l 1.5| 3,250.4|8AEE FRi304 | BYEfrE  [ETHIR EEL
— H LR T ] T 3.5 0.0l 0.5 [t GES AR
b N F T T — IR R T )[R T 171.1] o0.0f o0.0f 0.8 941. 1|HHA AR YRS (BiEf & [@THIE ML
— H L IR v ) o] T 3.3] 0.0 1.5 [ #r GEERY
F o NA7 T T — IR JER T [ T 176.6[ 3.3 0.0 1.5 971. 4| G PR3 | BYGEfrE [ETHIR EEL
— H L IR v ) [l T 0.0l 0.0 0.8 [ #r GESRY
Ry — AT =T =T 95.5] 3.5 0.0 0.8 859. b |Hilis4E VR3304 | BiGfrE (@ THIE ML
— T ST = AT 3.5 0.0 0.8 [ #1 GES AR




. 1:75: = = 2,5
5 T U= 2025/1/22
W4+ 0023 PEIpLE]
[ =
| & Fr W@ T 4 i R m | A Faf J OBRIZG | BERARIR | iR A 2 Bl I
S AR g | A | B
(FEec il m il P B s m | (LB kY, FEFY) m
HH)IION T v 715 = VR R TR =T = AT 26.4| 0.0l 0.0] 0.8 237.7| P CH5 PR304FE | BiEfr B [1BATHIR fEL
— E AT R ST =47 3.3] 3.0 1.5 R AT L HZER IR
—ATIAKG — BT S =47 28.5| 6.3] 4.8] 1.5 387. 6| H 74l WVE244F | BiEmiE [@1THIRE L
— B R TR AT =T 0.0/ 0.0] 0.8 HIEHH (&%)
AL B A = AR =T R SR 80.0 3.5/ 0.0 0.8 700. O|Hiia 215 YRR (BiEfE  [@THIR HEL
— F R AR IR 3.5 0.0 1.3 I #r GEERY
e 25 = H R T =T R SR 148.0( 3.5 0.0 0.8] 1,295.0(8ARAE PRI | BIEfE @ THIR L
— H R AN R 3.5 0.0 1.3 [ #r GEERY
YNNG = R O R T 307.2] 3.5 4.0 0.5 4,259 2|8MKEEE V10 (BiEf e [@fTHIE HEL
— H R T OC E R T 3.5] 0.0] 0.5 Fitr GES R
EE) T T () —E R 46.2] 3.1 3.0 2.4 392. 6| P CH5 YRk (BiGfrE  [BTHIR HEL
—E AT 0.0/ 0.0/ 0.0 7' LT THi
)| Z 7R () — R 45.6 0.0 0.0| 1.0 250. 7| P CH& VRk6dF  [BiGfrE  [BITHIR HEL
— E AT 3.5 3.0/ 1.0 7' LT TH7
4 ) |45 —EEET 47.0 7.0 0.0 0.9 423.0| P C#5 VR 144 | BiEf e (@ THIR ML
—E AT 0.0l 0.0] 0.0 7' LT SRR
KHE B — AT 0.0 7.0 0.0 0.9 540. O |BiiA 124G YR 154 | B i iy R HBATHIE ML
—HERET 0.0] 0.0 0.0 FarT GEG R
A8 (23, 5kp+25) = ER PR T O LR [T 2.4 3.5 4.3] 1.8 193.0|R C#& WRRTAE |k BATHIE ML
— R T R R T 3.5] 4.4] 1.5 R CHlff (BOX ML/ )
#AE (23, 6kp+75) —ERET S KL E 4.71 3.5 3.0 1.5 215. 2| R CH& WRESAE |k EATHIIE 4 L
—HIBET - RS 3.0 2.0 1.0 R Ci#f (BO XM /L/3— |)
Ry S E A = AT 15.8] 3.5 4.0 1.3 426. 6| P CH5 VRS | BiEfrE  [@fTHIR ML
—E AT 3.5 0.0 1.3 7 LT U HZERKR
A B E S — AT 15.8] 3.5 4.0 1.0 205. 7| P C#5 VR8T | BiffrE (@ THIE L
—E AT 3.5 0.0 1.0 7" LT L HZER KR
LG — H IR AT 150.01 7.0| 2.5 0.8] 1,843.3|P C#H WRK6E | BiEfrE  [@fTHIR ML
—E AT 3.0] 0.0/ 0.8 R AT L TH7




. ;[:‘7&% 50 =S 3,5
GANES RNV 2025/1/22
W4+ 0023 PEIpLE]
g B
X H] ZaN i) ERG I it m [ [ A Fafi e OB | RERFIR | i P (T
S AR g | A | B
(B m i, B s sl m | (BB kY, FBETFY) m
R 1 Z#EEiE (1) — R 20.0 3.5 3.0l 3.3 296. 4| P C#% VRbF | BYEfiE  [ETHIRE HEL
—E AT 0.0/ 0.0/ 0.0 7' LT THi
Rl 1 Z#EaEiE (F) — H R 20.0 0.0l 0.0 0.0 243. 8| P CH5 VRk124E [ BIEfr B [BTHIR HEL
— E AT 3.5 3.0 1.7 7' LT TH7
R[] 2 5 hEm A — H R 20.0( 3.5 3.0] 1.0 320. 0| P C 15 VRk6H BIGfrE [BTHIR HEL
—HRET 6.5] 0.0 1.0 7" LT L ZER KR
Rl 3 ZkEEiE (1) — R 20.0 3.5 3.0l 0.8 346. 0| P C1#& VRk6F | BiEfiE  [ETHIR L
= H T 0.0] 0.0 0.0 7L I ZERRR
Rl 3 Z#EamiE (1) — E AT 20.0( 3.3] 0.0] 0.3 249. 1| P CH& YRk 124E (BiEf & [BTHIR HEL
—E AT 3.3 3.0l 1.1 7 LT U HZERKR
B 2> N — E AT A pITT 154.0| 3.5 0.0l 1.0] 1,386.0|8MixEE k24 (BiEfm & [@BTHIE ML
— R TN ET 3.5 0.0 1.0 Farr GEG R
AETAT S = 2R A —HRET 328.0| 7.0l 0.0l 0.7] 3,339.7|PCHE VR 144 | BIEfE @ THIR L
—E AT 0.0l 0.0 0.0 7 LT HZERKR
2 ) A — R 122.0] 10.3| 3.5| 1.2| 2,278. 9|SMIEHAE PR 164 | BiEfE B THIR ML
= H T 0.0l 0.0 0.0 [ #1 GES AR
A 1A] % 15 2R A — AT 54.01 3.3] 3.0 2.0 755. 3| P CH% VR 134 | BiEf . [@ THIR ML
—E AT 3.3] 0.0l 1.5 7' LT SRR
=) = E R 133.1] 3.5 3.5| 1.1| 2,451. 0|SMIBHEE V184 | BYEfrE  [ETHIR L
—E AT 3.5] 3.5 1.1 [ #r GEERY
L5 )14 —E IR 40.8] 3.5 3.5| 1.0 652. 8| P C#% PRI BiEfE  [BfTHIE ML
—E AT 3.5 3.5] 1.0 RAT  THE (K
RS (29. 0kp+69) —E R AT H 2.1 3.9 3.4 2.2 112. 8| P C#5 R 194 | WEATHIR HEL
— E AT Y 3.9] 0.0 2.3 P Ciliffi_(BO XA /Ls— )
B2 2)IHE — E AT 54.5| 3.5 3.5 1.3 674. 4| B WVRk22F (BiEf & [@THIRE HEL
— R 3.5] 0.0l 0.6 [ #r GESRY
TEM T 2 SiiEERE | ERETR sy E1TH 20.0] 3.5 3.5/ 1.3 247. 6| P CH& VRl 224F | BiEfr s [1@ATHIRRE  HEL
—EIEETR 1T H 3.5] 0.0 0.6 7 LT HZERIR




. ;[:Z% 50 =S 4,5
o DU 2% mBH S 2025/1/22
W4+ 0023 PEIpLE]
g B
X (] ZaN i) ERG I it m [ [ A Fafi e OB | RERFIR | i P (T
S AR g | A | B
(B m i, B s sl m | (BB ED, PEITY) m
T S E —HEIRETM S 50.0{ 3.5 0.0| 0.5 450. O | HiiABEAG WRpR264F | BiGmiEE  [1BATHIR ML
—HEIRETM 3.5 0.0 1.5 FMT CGEG A
1 515 — R R AT 49.5] 3.5| 0.0l 0.8 612. 6| TR G WR27T4 | BiGmE (1@ THIR HEL
—HEIRETS 3.5] 3.5 1.1 [t GES AR
= 2 55 — R R AT 96.0] 3.5| 0.0l 0.8] 1,200.0|8 a5 WVR264F | BiGmE (1@ THIR ML
— IR 3.5] 3.5] 1.3 [ #1 GES AR
FAI & 2845 — H IR AT K 274.5] 3.5 3.5 1.0| 3,398.3|HilEEEE PR 264 | B 1% far B HBATHIE L
= F IR EK 3.5 0.0 0.9 FMT CGEG A
RARE HAERAG (T V) | = R AR ATHT 85.0 0.0| 0.0] 2.9] 1,196. 2|8 EAE VR264F | BiEfrE (@ THIR ML
= F IR E AR N R BT 6.8] 0.0/ 5.5 [ #r GEERY
RAPEF HBERAE (EV ) | = R T A E B AT 95.01 6.8] 0.0] 5.3| 1,359. 8|4 VR 264F | Biffr s (@ TR HEL
—EIRE SRR N LT 0.0] 0.0/ 3.8 I #r GEERY
#F&  (35. 0kp+95) =R A R NERAT 2.2 2.5 0.0 0.5 21.3| P C15 R 244F | 5k WBATHIR EL
—HIEETHERER/DARRT 2.5 3.71 0.5 P CHlEtE (BOX AL — )
=B HH A = H IR SRR/ NRAT 22.01 3.5 0.0l 0.9 193. 0| P C#5 Vpk244F | BiEfwE (@ THIR ML
— R R S R AR T 3.5 0.0 0.9 7 LT HZERIR
ARIE T — = 2845 = IR A TR IE T 208.0( 3.5| 0.0] 0.8] 1,878.0|HAEAE V%244 | BiGfrE [1BTHIR MEL
— F R T AR ERT 3.5 0.0 1.3 I #1 GEA AR
#AE (36, 1kp+73) = E AT RS 3.5 3.5 0.0 1.0 114. 3| P C15 R%234 | % EATHIRR L
— AT AR SR 3.5 0.0] 1.0 P Ciliifi (BO XA /L5—b)
ARIEH 5 ZAE =R R T AR ST 239.2] 3.5] 0.0 0.9| 2,099. 0| EE V244 | BiEfwE (@ THIR ML
— H LR TR T 3.5] 0.0l 0.9 [ #1 (5 A%)
BTE A — R AT ARG AT 406.0] 3.5] 3.0 0.8| 4,872.0|4iEHEAE W24 | B [1BATHIFR  MEL
— H E AR PR 2 T 3.5 0.0 0.8 Fitr GEA R
EEHE—E2E (1) — B R AA PR T 45 T 230.0] 3.5| 0.0l 0.8] 3,967.0|8xEE WVR244 | BiGmE (@B THIRE HEL
— H R A PR 2 T 3.5] 0.0] 10.5 [ #r (550
HHE—E2EE(2) F | = 'R T 81.0 0.0 0.0| 12.5| 1,441. 0|84 WRk244F | BiEfmiE (@1 THIR ML
— H A PR 2 T 3.3 0.0 1.5 [ #1 (5 A%




. ;[:75: 50 =S 5,5
GANES RNV 2025/1/22
W4+ 0023 PEIpLE]
g B
X H] ZaN i) ERG I it m [ [ A Fafi e OB | RERFIR | i P (T
S AR g | A | B
(B m i, B s sl m | (BB By, FETFY) m
EHE—EZE (2) B | =EIRARER T T 88.0 6.8] 0.0 2.7| 1,343.0|8sRE4E VRl244F | BYGEfwiE  [@THIR L
— H R BT 2 T 3.5] 0.0 1.0 [ #1 (5A%)
I LR E = HE WA B T A T 218.01 3.5 0.0 1.0] 1,962.0|8xE0E WVRk24F (BiEm & [BTHIR HEL
=y YN T dasl 3.5] 0.0 1.0 I #1 (B A%
=R R R — 5 ERE | E IR TER T EE 34.9] 3.3 0.0 1.3 314. 0| P CH& VR 244 | BIEfE @ THIR ML
— AN PR e B R 3.3] 0.0 1.3 RAT > THE (EEK)
=R T ERIE R ESERE | = IR R B N AT 46.4] 3.5| 0.0 1.0 418.0| P CH& Vpk244 (BIEE [BfTHIR HEL
— E VRN B s B/ N A T 3.5 0.0l 1.0 R AT L THi
#AE  (38. 9kp+92) — H AR P v B T R R T 4.71 3.5 0.0l 1.3 214. 3| R C 15 Wk 184F | sk ETHIR ML
— H R A Bl T e B BT R T 3.5] 0.0l 1.3 R CHliff (B O X /Ls—b)
fi B S A A — HE AR 43.5] 3.5| 0.0l 1.0 396. 9| R G V164 | BiGfrE  [1@ATHIRR ML
— AR 3.5] 0.0l 1.1 FMT CGEGA
/INEE S RRA =y YN P 30.6] 3.5| 3.5 1.0 382.5| P C 1% VR L7 | BiEfRiE @ THIR ML
— AR PR T o E T 3.5 0.0 1.0 RAT  THT
—EPEG — H AR PR 46.0| 3.5 0.0 1.5 419. 8| P C 15 PRk 164 BiEf & [BTHIR ML
— AR 3.5 0.0/ 0.6 ™ AT L FMT
/INEE TR 2R AR = H RN T /)N T 209.0 3.5| 0.0l 1.0| 1,907. 1|88 HEE VLT | BiGfrE 1@ THIR ML
— H AR T /N EERT 3.5 0.0] 1.0 R (BPRRR)
A& (41. 6kp+84) = E AN /N T 5.1 3.6] 2.9 1.2 41.6|R CH& R%224 | % HATHIRR L
o YN AN L] 0.0 0.0/ 0.0 R il (BOXHAS—P)




I L]
AN fa @i & 2025/1,22
A4 - 0023 i
i =]
X|TH & B & P 4 JI. S m m e A8l N OV = R AR | (it A B oW i
ot BA R - B | 4 | BE
(B A, B ) m (FE:: B, FEECTFY) m
b I AERG — R R B R T A [ T 72.01 0.0l 3.0l 0.0 216. OS2 1G 2R304 | sk sk
— B JEL & R T A | T 0.0l 0.0l 0.0 I #7 (SRR




1,71

\
Al
e={{{{
TH
i

PRIES L DAL

5 * 2025/1/22
WAR4 0023 i
X1 & At 4 PRE F 72 135 aE D 44 FR R FIIR g B | A%hm(m) £720% 5 3
xR 7 AE 7 ()
m m
= E RSN T L R E AT FEBE (Bk)  FER NARZE S 6. 80
5 R
— E T HBRESE (BR)  AlZBAHR SLARAE S 7.50
5 R
— R AT Uras A ARERE (BR) 4 =R NARAE A2 5. 20
R
= H IR AR BT HBRESE (BR)  AlZBAHR SLARAE S 6. 65
5 R




